ELECTRICAL

MAG A42D & A48D

ELECTRICAL - Parts List

ITEM Qry PART NUMBER DESCRIPTION
TOGGLE SWITCH SEALED ON-OFF
1 1 - PER LIGHT KIT 44252 SPST LEAMP
FACE PLATE FOR TOGGLE SWITCHS
2 1 - PER LIGHT KIT 44216 ON-OFF
3 1 - PER LIGHT KIT 44215 TOGGLE SWITCH BOOT
4 1 - PER T-HANDLE 24407 5/8" LOCKING HOLE PLUG
5 1 Q14F3 RED INDICATOR LIGHT
6 1 - PER NON-T-HANDLE | STDSSB5 MOMENTARY PUSH BUTTON SWITCH
7 1 44053 BOOT
1 - PER NON-T-HANDLE
o 4 — PER T-HANDLE IPR3 PUSH BUTTON
9 3 15403-6449-0 RED INDICATOR LAMP
10 1 1-2507 HOUR METER
11 1 1E013-63590 KEY SWITCH
ALARM, 12V DC 90 DECI,
12 ! 623-2027 INTERMITTENT
13 1 730-1020 HORN HIGH PITCH 12V MINI
FUSE BLOCK WITH COVER 8 FUSE
14 ! 46082 ATO ATC STYLE
15 1 46920 50-AMP CIRCUIT BREAKER
2 — PER NON-T-HANDLE
16 4 — PER T-HANDLE 75411 MINI RELAY 12V SPDT 40/20 AMP
1— PER LIGHT KIT
2 — PER NON-T-HANDLE
17 4 — PER T-HANDLE 75280 MINI RELAY BASE
1— PER LIGHT KIT
18 4 46215 15-AMP BLADE TYPE FUSE
19 3 46210 10-AMP BLADE TYPE FUSE
20 1 46230 30-AMP BLADE TYPE FUSE
21 1 17538-83040 COOLANT TEMPERATURE SENSOR
22 1 16678-64012 ALTERNATOR
23 1 15841-39010 OIL SENDING UNIT
24 1 16824-63010 STARTER
25 1 D662-E2B GLOW PLUG RAIL
26 3 16851-65512 GLOW PLUG
27 1 16851-60014 FUEL SHUT OFF SOLENOID
28 1 IND-ENG209 L BRACKET
29 1 D902-E4B-KEA-2 ENGINE ASSY
30 1 OILFAN COOLING FAN
31 1 OILTHERMO HYDRUALIC TEMPERATURE SENSOR
3.1
MAG A42D & A48D

2IND-MANUAL




MAG A42D & A48D

ELECTRICAL
ITEM QTY PART NUMBER DESCRIPTION
32 1 IND-CVR105 COOLER BRACKET
33 1 63002 HYDRAULIC OIL COOLER
34 1 2IND-ENG102 BATTERY TRAY
35 2 98760A111 %-20X9 % J HOOK
36 1 IND-ENG208 BATTERY HOLD DOWN
37 1 26-60 BATTERY (480 CCA)
38 1 2IND-VB212 WHEEL LOCK VLV MNT
39 1 DSHO8 SOLENOID VLV, 2P4W, 12VDC
40 1 IND-VB108 WHEEL LOCK VLV MNT
41 1 B826 BRAKE INDICATOR SWITCH
42 1 IN-BR102 BRAKE INDICATOR SWITCH MOUNT
43 1 2IND-LTK200 REAR LIGHT BRACKET
2IND-LTK201 LIGHT MNT, LHS FRONT - 42"
44 1 2IND-LTK201-48 LIGHT MNT, LHS FRONT - 48"
2IND-LTK202 LIGHT MNT, RHS FRONT - 42"
45 1 2IND-LTK202-48 LIGHT MNT, RHS FRONT - 48"
46 3 TLL144FSL WORK LIGHT FOR INSTALLER
47 2 28816 #6-32 x 3/4" MACHINE SCREW
48 2 37010 6_32 NYLOC
49 2 13005 1/4"-20 X 1" CAPSCREW
50 8 13003 1/4"-20 X 3/4" CAPSCREW
51 2 0115009 1 4-20X13_4
52 22 33857 1/4" FLAT WASHER
53 22 33891 1/4" LOCK WASHER
54 14 36302 1/4"-20 HEX NUT
55 2 13055 5/16"-18 X 1" CAPSCREW
56 8 36304 5/16"-18 HEX NUT
57 21 33892 5/16" LOCK WASHER
58 52 33858 5/16" FLAT WASHER
59 16 33007 3/8 FLAT WAHSER
60 34 33893 3/8" LOCK WASHER
61 3 0115109 3/8"-16 X 1 1/2" CAPSCREW
62 3 25706 3/8" CABLE CLAMP
63 12 13105 3/8"-16 X 1" CAPSCREW
64 22 36306 3/8"-16 HEX NUT
65 1 13103 3/8"-16 X 3/4" CAPSCREW
66 7 13107 3/8"-16 X 1 1/4" CAPSCREW
67 2 110708785 7/8" P-CLAMP
68 1 RC101-53630 KEY SET
69 1 9688K251 SNAP IN PLUG, 1/2" DIA
3.2
MAG A42D & A48D

2IND-MANUAL




MAG A42D & A48D

ELECTRICAL
ITEM QTY PART NUMBER DESCRIPTION
70 1 9600K47 RUBBER GROMMET
71 1 2IND-SHL111 SHIELD CONTROL PANEL
72 1 2IND-SHL112 ELECTRICAL PANEL
73 1 EMDV-08-BECI WHEEL LOCK VALVE ASSEMBLY
WHEEL LOCK VLV MNT STRAP,
74 1 2IND-VB220 EMDV-08
3.3
MAG A42D & A48D
2IND-MANUAL



ELECTRICAL

MAG A42D & A48D

ELECTRICAL - Parts List

/"_‘\

ITEM QTY PART NUMBER DESCRIPTION
TOGGLE SWITCH SEALED ON-OFF
1 1 - PER LIGHT KIT 44252 SPST 15AMP
FACE PLATE FOR TOGGLE SWITCHS
2 1 - PER LIGHT KIT 44216 ON-OFF
3 1 - PER LIGHT KIT 44215 TOGGLE SWITCH BOOT
4 1-PER T-HANDLE 24407 5/8" LOCKING HOLE PLUG
5 1 Q14F3 RED INDICATOR LIGHT
6 1—PER NON-T-HANDLE STDSSB5 MOMENTARY PUSH BUTTON SWITCH
7 1 44053 BOOT
1 - PER NON-T-HANDLE
3 4 — PER T-HANDLE IPR3 PUSH BUTTON
9 3 15403-6449-0 RED INDICATOR LAMP
10 1 1-2507 HOUR METER
11 1 1E013-63590 KEY SWITCH
ALARM, 12V DC 90 DECI,
12 1 623-2027 INTERMITTENT
13 1 730-1020 HORN HIGH PITCH 12V MINI
FUSE BLOCK WITH COVER 8 FUSE
14 1 46082 ATO ATC STYLE
15 1 46920 50-AMP CIRCUIT BREAKER
2 — PER NON-T-HANDLE
16 4 — PER T-HANDLE 75411 MINI RELAY 12V SPDT 40/20 AMP
1— PERLIGHT KIT
2 — PER NON-T-HANDLE
17 4 — PER T-HANDLE 75280 MINI RELAY BASE
1— PERLIGHT KIT
18 4 46215 15-AMP BLADE TYPE FUSE
19 3 46210 10-AMP BLADE TYPE FUSE
20 1 46230 30-AMP BLADE TYPE FUSE
21 1 17538-83040 COOLANT TEMPERATURE SENSOR
22 1 16678-64012 ALTERNATOR
23 1 15841-39010 OIL SENDING UNIT
24 1 16824-63010 STARTER
25 1 D662-E2B GLOW PLUG RAIL
26 3 16851-65512 GLOW PLUG
27 1 16851-60014 FUEL SHUT OFF SOLENOID
28 1 IND-ENG209 L BRACKET
29 1 D902-E4B-KEA-2 ENGINE ASSY
30 1 OILFAN COOLING FAN
31 1 OILTHERMO HYDRUALIC TEMPERATURE SENSOR
3.4
MAG A42D & A48D
2IND-MANUAL

=



3.5

MAG A42D & A48D
ELECTRICAL

MAG A42D & A48D
2IND-MANUAL



MAG A42D & A48D
ELECTRICAL

ELECTRICAL PANEL — NON - T - HANDLE

3.6

MAG A42D & A48D
2IND-MANUAL




3.7

MAG A42D & A48D
ELECTRICAL

MAG A42D & A48D
2IND-MANUAL



MAG A42D & A48D
ELECTRICAL

3.8 -
MAG A42D & A48D /;_—?\ '
2IND-MANUAL /'.-




3.9

MAG A42D & A48D
ELECTRICAL

MAG A42D & A48D
2IND-MANUAL




MAG A42D & A48D
ELECTRICAL

3.10

MAG A42D & A48D
2IND-MANUAL




MAG A42D & A48D
ELECTRICAL

SOLENOID VALVE - VERSION 1
SERIAL NUMBER ENDING IN 236 TO 254

SOLENOID VALVE - VERSION 2
SERIAL NUMBER ENDING IN 255 TO 374

3.11

MAG A42D & A48D
2IND-MANUAL




MAG A42D & A48D
ELECTRICAL

SOLENOID VALVE - VERSION 3
SERIAL NUMBER ENDING IN 375 TO CURRENT

3.12

MAG A42D & A48D
2IND-MANUAL




3.13

MAG A42D & A48D
ELECTRICAL

MAG A42D & A48D
2IND-MANUAL




3.14

MAG A42D & A48D
ELECTRICAL

NON-T-HANDLE OPTION

MAG A42D & A48D
2IND-MANUAL



3.15

MAG A42D & A48D
ELECTRICAL

T-HANDLE OPTION

MAG A42D & A48D
2IND-MANUAL



MAG A42D & A48D
ELECTRICAL

3.16 -

MAG A42D & A48D @
2IND-MANUAL /'-'
e




MAG A42D & A48D
ELECTRICAL

3.17

MAG A42D & A48D W
2IND-MANUAL fi
e




MAG A42D & A48D
ELECTRICAL

3.18

MAG A42D & A48D
2IND-MANUAL




MAG A42D & A48D
ELECTRICAL

Valla

¢l £ o<

SAVI3Y

ANNOYD

0019
asnd

ALIHM - M

JLIHM ANV d3d - MY
a3y -y

31ddNd - dd

JONVYHO - 40

N33UD 1HOTIT - 91
N334 - O

NMOYd - ¥g

anig - 19

Mvid -9

AN 3A0D YOT0D RAIM

3.19

MAG A42D & A48D

2IND-MANUAL

N

))



MAG A42D & A48D
ELECTRICAL

g .
q [dd O Tdd M| O .
g g 4 g <
w/anuavhy N g =0
q 9 _|_|_U
3 ¥ Y g A
SAV13Y (]
®)
ANNOYo
a| [dd q|[dd
2079 3sn4
d - b
1o | ; :
Y Y <3
| o%
9s
% d N be| . M a
L - - JLIHM 9 o2
0 JONVIO 'S !
N I YOVg b
J— w_ _ n_ NMO¥g '€
1 (ANNO¥D) Movg T
ay't
JIIHM - M
J1IHM ANV d3d - M\
a3y -
J1d¥Nd - ¥d
IONVIO - 0
N3FEO LHOIT - D1
N3IFEO -9
NMOU4 - ¥d
anig - 19
Avid - 9
A 3A0D HOT0D NIIM

3.20



3.21

MAG A42D & A48D
ELECTRICAL

BR A-BR
B-OR
OR C-R
KEY SWITCH R 3-PIN FEMALE
CONNECTOR WIRE COLOR CODE KEY
BR B - BLACK
BL - BLUE
BR - BROWN
G - GREEN
R LG - LIGHT GREEN
OR - ORANGE
PR - PURPLE

3-PIN MALE R - RED

HOUR METER R CONNECTOR  RW - RED AND WHITE
W - WHITE
A-R
B-R
C-B
B
w ALARM
DIODE
oIL
INDICATOR
LAMP
R ‘ BL PR B
DIODE
PR
TEMP
INDICATOR
LAMP
. . BL : BL B
DIODE
BL
ALT
INDICATOR
LAMP
Iy LG B
S A

R ‘BL

LG

RW

4-PIN FEMALE

CONNECTOR
\ 4-PR

3-BL
2-1G
1- RW

MAG A42D & A48D W
2IND-MANUAL /'.'
=



MAG A42D & A48D
ELECTRICAL

JOLVNYILTY

JLTHM - M

J1IHM ANV d3d - MY
a3y -y

31ddNd - ¥d

JONVYO - 40

N33¥O LHOIT - D1
NIJYO -9

NMOYd - dd

aniga -1d

Aovid - 4

A 3A0D YOT0D FUIM

91-1

JOLDO3INNOD
JIVIN NId-+

9Nd - €
9-¢

o1

YOLO3NNOD NId-€

JOLVNYALTVY

o

dOSN3IS
FANLYYIdWNIL

dd

1INN
ONIANZS 110

)Y S— o— 4 R

SONTd MO

0019
asnd

YOLD3INNOD
IV NId-€

R ENR LA

g

3.22

MAG A42D & A48D

2IND-MANUAL



MAG A42D & A48D
ELECTRICAL

YOLVYNYILTV

dION310S
440-LNHS T3and

9N1d - €
9-¢
91-1

YOLOINNOD NId-€
HJOLVYNYILIV

YIWIL HOLIMS A3

JLIHM - M

A1THM ANV d3d - MY
a3y -y

31ddNd - ¥d

JONVYHO - ¥0

N33¥D LHOIT - 91
NEE D]

NMOYS - ¥d

an1g - 14

Movid -4

A3N 3A0D Y0T0D PAIM

X o om
1

JOLO3INNOD
JTVINIH NId-€

3.23

MAG A42D & A48D

2IND-MANUAL



MAG A42D & A48D
ELECTRICAL

HOLIMS
YJOLVOIANT IXMvyud

1HOTIT YO1VvIIANI
ONIHSYT4 a3y

A1LTHM - M

J1THM ANV a3y - MY
a3d -y

31ddNd - ¥d

IONVYO - 40

N33O LHOIT - 91
N33¥9 -5

NMOY4 - ¥4

anTa -4

Jovid -4

A3N 3A0D YOT0D UIM

0074
asnd

3.24

MAG A42D & A48D

2IND-MANUAL



MAG A42D & A48D
ELECTRICAL

d
H_Hﬁ O
d
NOILO3INNOD dJOSN3S
NId-¢ FINLVHIdINIL

NOILOINNOD
NId-¢

ALIHM - M

J1THM ANV d3d - MY
a3y -d

’ ‘ 31ddNd - dd
— JONVYO - ¥O
Nv4 SNIT000 N334SO LHOIT - 91
N340 -9
NMOud - ¥d
an1g -1d
Aovid -4

A3N 30D YOT0D ]AUIM X004
asnd

MAG A42D & A48D
2IND-MANUAL

3.25



MAG A42D & A48D

ELECTRICAL

10

aNNoOYd

e

N

200719 3snd

AV13d

HOLIMS

oy
%4

MOTIAA - A

JLTHM - M

J1IHM ANV a34 - Md
a3y -do

I1ddNd - dd

JONYHO - 40

N33HO LHOIT - 91
N3FYO - 9

NMOHYS - ¥d

anig - 1d

Aovid - d

AT 3A0D HOT0D TUIM

3.26

MAG A42D & A48D

2IND-MANUAL



MAG A42D & A48D
ELECTRICAL

NOTES:

3.27

MAG A42D & A48D
2IND-MANUAL



